VP 130007
Peterbilt- 579 Day Cab

Rivnuts Mount in Cab

] ‘/©\ iy \
\/

it

wfl v
Wt
.

A

.&@f\@
&)

@

Driver Side (VP130007-2 ps) Passenger Side
(VP130007-2 ds) |
Visor Halves Bolt Together
Inspected By: Date: REVISION 5/13
I TY Description Size
il il Hex Head Bolt with baillic : P e
Hei bl washers mount through @ | 2 |Vvisor body Halve 13.5"x 35
brkt into welnutinside of cab @ | 2 |Outer Visor Brkt DS (VP130007-2 ds) 14" x 3"
® | 2 |Outer Visor Brkt PS  (VP130007-2 ps) 14" x 3"
@ @ | 2 | Truss Head Screws (ear mount) 1/4"x 20 x 1/2"
. ; ; 11 |Hex Head Bolts 1/4" x 20 x 3/4"
Front View / Toolincluded in hardware |- . - -
[T ay i i A . - ®) | 12 |Truss Head Machine Screws 1/4" % 20 x 3/
; Rk A amgms Rivnut Installation
Step 1 Insert Step 2 Expand @ | 28 | Washers 1/4" x 20
Rivnut g~ Tool  Bolt @ 15 Nylock Nuts 1/4" x 20
® |10 | Rivhuts (Hex Head) 1/4" x 20 x 1/2"
Cabp @@ | 1 | RivhutTool 1/4"
Washer @D |10 | LockWashers 1/4" x 20




VP 130007
PB 579 Day Cab Visor Instructions

Read Entire Instruction Sheet Before Beginning

Safety Glasses 10mm Metric Wrench
Silicone or Loctite” 7/16” Wrench

Masking Tape Phillips Head Screw Driver
Rivnut Tool - provided Drill bit - 19/64”

Steps:
1. Unpack the carton and make sure all parts are in the box.
2. Mount visor halves together.
3. Mount brackets to visor body.
4. Hold Visor up to cab at desired location (2 Persons needed). Mark holes in cab to drill @ bracket
locations and at ears. Holes Must not be drilled more than 1 %” above rubber trim of
windshield. (If holes are drilled above this dimension you may risk drilling through interior
layer of cab.) Mark drill bit for top half holes @ 72"
5.Use ¥4’ X 20 X 2” Rivnut — All 8 bracket holes.

6. Remove brackets from visor skin and mount brackets only. Do not fully tighten.

7. Using 19/64” drill bit (mark drill bit with tape @ Y% mark to prevent from drilling through
interior cab).

8. Insert %™ Rivnuts in holes using Rivnut tool provided.

9. Remount visor skin to brackets. Adjust to desired location — Mark end holes of visor (ears) to
drill. Repeat step 8 for visor end (ear holes- rivnut installation).

10. Remove visor and tighten brackets.
11. Remount visor and align. Attach at all holes and tighten.

12. Remove the PVC coating from the visor.

Revised: May 2013



